

Elementary algebra
(आवृत्त)

#

$$(a+b)^2 = a^2 + b^2 + 2ab$$

+

$$(a-b)^2 = a^2 + b^2 - 2ab$$

$$\frac{(a+b)^2 - (a-b)^2}{ab} = 4$$

$a, b \rightarrow$

$$\# \frac{(174 + 32)^2 + (174 - 32)^2}{174^2 + 32^2} = 2$$

$$\# \frac{(203 + 493)^2 - (493 - 203)^2}{203 \times 493} = 4$$

$$x + \frac{1}{x} = p$$

$$x^2 + \frac{1}{x^2} = ?$$

$$(a + b)^2 = (p)^2$$

$$a^2 + b^2$$



$$\underbrace{a^2 + b^2} + \underbrace{2ab} = p^2$$

$$a^2 + b^2 = p^2 - 2ab$$

$$x^2 + \frac{1}{x^2} = p^2 - 2(x) \times \frac{1}{x} = \textcircled{p^2 - 2(1)}$$

$$\# \quad x + \frac{1}{x} = 5 \quad \longrightarrow \quad x^2 + \frac{1}{x^2} = \begin{array}{c} \textcircled{5^2 - 2} \\ | \\ \textcircled{23} \end{array}$$

$$\# \quad x + \frac{1}{x} = \sqrt{7} \quad \longrightarrow \quad x^2 + \frac{1}{x^2} \Rightarrow \begin{array}{c} p^2 - 2 \\ \downarrow \\ 7 - 2 = \textcircled{5} \end{array}$$

$$\left(x^6 + \frac{1}{x^6}\right)^2 = (-1)^2 \quad x^{12} + \frac{1}{x^{12}} = ?$$

$$\frac{x^{12} + \frac{1}{x^{12}} + 2}{x^{12}} = 1 \quad (-1)^2 - 2 \Rightarrow -1$$

$$-1$$

$$x^7 + \frac{1}{x^7} = 3$$

$$x^{14} + \frac{1}{x^{14}} = ?$$

$$\frac{p^2 - 2}{1}$$

$$9 - 2 = 7$$

$$\sqrt{x} + \frac{1}{\sqrt{x}} = \sqrt{7} ;$$

$$x^4 + \frac{1}{x^4} = ?$$

$$x + \frac{1}{x} = (\sqrt{7})^2 - 2$$

$$x = \underline{5}$$

$$x^2 + \frac{1}{x^2} = 5^2 - 2 = \underline{23}$$

$$\frac{(23)^2 - 2}{529 - 2}$$
$$\underline{527}$$

$$\underline{3x} + \frac{1}{3x} = \sqrt{5}$$

$$9x^2 + \frac{1}{9x^2} \Rightarrow$$

$$\hookrightarrow (\sqrt{5})^2 - 2 \Rightarrow$$

3

$$p^2 - 2 \text{ (ab)}$$

1

$$\left(3x + \frac{1}{2x}\right)^2 = (\sqrt{7})^2 \quad \underline{9x^2} + \frac{1}{\underline{4x^2}} = ?$$

$$9x^2 + \frac{1}{4x^2} + \cancel{2} (3x) \left(\frac{1}{\cancel{2x}}\right) = 7$$

$$9x^2 + \frac{1}{4x^2} = \textcircled{4}$$

$$\sqrt{x} + \frac{1}{2\sqrt{x}} = \sqrt{3} \quad ; \quad x^2 + \frac{1}{16x^2} = ?$$

$$x + \frac{1}{4x} = (\sqrt{3})^2 - \cancel{2}(\sqrt{x})\left(\frac{1}{2\sqrt{x}}\right)$$

$$4 = \cancel{2} \cdot \cancel{2} \Rightarrow \left(\frac{7}{2}\right)$$

$$(a-b)^2 \checkmark$$

11:00 R&P-2

12:30 - (2)

$$\underline{a^2 - b^2} \Rightarrow (a+b)(a-b)$$

$$6^{32} - 35 \underline{(6^2 + 1)(6^4 + 1)(6^8 + 1)(6^{16} + 1)}$$